
Installation guide of swivel Date
2022-11-08

- Sheet
1/3

Installation guide of swivel 
Step 1 - Unscrew seat from seat base
Step 2 - Put the swivel between seat and seat base as shown below.
Step 3 - Firstly screw swivel to the seat base, then screw the seat. Use bolts detailed in table (next sheet)
Step 4 - If the model requires it, install the emergency brake adapter or height adjustment adapter.

Mounting kit 1

Swivel

Mounting kit 2

Seat

(not modified)
Seat base

height adjustment adapter)
(emergency brake adapter or 

Optional additional parts

Mounting kit 3



VEHICLE CODE SIDE MOUNTING KIT 1 MOUNTING KIT 2 MOUNTNIG KIT 3

Ford
Transit

OBT10001 Driver
4x DIN 7991 Bolt M8x20-10.9

4x ISO 7092 Washer M8
4x DIN 985 Self-locking Nut M8

4x DIN 7991 Bolt M8x20-8.8
3x DIN 7991 Bolt M8x20-10.9
3x DIN 933 Bolt M8x20 - 8.8

6x DIN 985 Self-locking Nut M8

OBT10004 Passenger
4x DIN 7991 Bolt M8x20-10.9

4x ISO 7092 Washer M8
4x DIN 985 Self-locking Nut M8

4x DIN 7991 Bolt M8x20-8.8 -

Mercedes-Benz
Sprinter 906

OBS10001 Driver 4x DIN 7991 Bolt M10x20-10.9
4x DIN 985 Self-locking Nut M10 4x DIN 7991 Bolt M10x20-10.9 2x DIN 7991 Bolt M10x20-10.9

2x DIN 933 Bolt M10x20-8.8

OBS10004 Passenger 4x DIN 7991 Bolt M10x20-10.9
4x DIN 985 Self-locking Nut M10 4x DIN 7991 Bolt M10x20-10.9 -

Mercedes-Benz
Sprinter 907

OBV10001 Driver 4x DIN 7991 Bolt M10x25-10.9
4x DIN 985 Self-locking Nut M10 4x DIN 7991 Bolt M10x35-10.9 2x DIN 7991 Bolt M10x20-10.9

2x DIN 933 Bolt M10x20-8.8

OBV10004 Passenger 4x DIN 7991 Bolt M10x25-10.9
4x DIN 985 Self-locking Nut M10 4x DIN 7991 Bolt M10x35-10.9 -

Volkswagen
Crafter

OBC10001 Driver 4x DIN 7380 Bolt M10x20-10.9
2x DIN 125 Washer M10 4x DIN 7991 Bolt M10x25-10.9 -

OBC10004 Passenger 4x DIN 7380 Bolt M10x20-10.9
2x DIN 125 Washer M10 4x DIN 7991 Bolt M10x25-10.9 -

Volkswagen
T6

OBA10001 Driver 4x DIN 7991 Bolt M8x20-10.9
4x DIN 985 Self-locking Nut M8

2x orginal seat base bolt M8
4x original seat base nut M8

2x DIN 7991 Bolt M8x20-10.9

2x DIN 933 Bolt M8x25-8.8
2x ISO 4032 Nut M8

OBA10004 Passenger 4x DIN 7991 Bolt M8x20-10.9
4x DIN 985 Self-locking Nut M8

2x orginal seat base bolt M8
4x original seat base nut M8

2x DIN 7991 Bolt M8x20-10.9
-

Fiat
Ducato

OBF10001 Driver 6x DIN 7991 Bolt M8x35-10.9
6x DIN 985 Self-locking Nut M8 6x DIN 7991 Bolt M8x20-10.9 -

OBF10004 Passenger 6x DIN 7991 Bolt M8x35-10.9
6x DIN 985 Self-locking Nut M8 6x DIN 7991 Bolt M8x20-10.9 -

Installation guide of swivel Date
2022-11-08

- Sheet
2/3



VEHICLE CODE SIDE MOUNTING KIT 1 MOUNTING KIT 2 MOUNTNIG KIT 3

Renault
Trafic

OBO10001 Driver 4x DIN 7991 Bolt M10x18-10.9
4x ISO 4032 Nut M10 4x DIN 7991 Bolt M10x60-10.9 -

OBO10004 Passenger 4x DIN 7991 Bolt M10x18-10.9
4x ISO 4032 Nut M10 4x DIN 7991 Bolt M10x25-10.9 -

Maxus
Deliver 9

OBM10001 Driver
4x DIN 7991 Bolt M8x20-10.9

4x ISO 7092 Washer M8
4x DIN 985 Self-lockin Nut M8

4x DIN 7991 Bolt M8x20-8.8 -

OBM10004 Passenger
4x DIN 7991 Bolt M8x20-10.9

4x ISO 7092 Washer M8
4x DIN 985 Self-lockin Nut M8

4x DIN 7991 Bolt M8x20-8.8 -

Installation guide of swivel Date
2022-11-08

- Sheet
3/3



Installation guide of swivel Date
2022-11-08

- Sheet
1/1

Vehicle Version Side Swivel handle
location

Ford
Transit

GB
Driver Front

Passenger Front

EU
Driver Front

Passenger Front

Mercedes-Benz
Sprinter 906

GB
Driver Left

Passenger Right

EU
Driver Right

Passenger Left

Mercedes-Benz
Sprinter 907

GB
Driver Left

Passenger Right

EU
Driver Right

Passenger Left

Volkswagen
Crafter

GB
Driver Left

Passenger Right

EU
Driver Right

Passenger Left

Volkswagen
T6

GB
Driver Left

Passenger Right

EU
Driver Right

Passenger Left

Fiat
Ducato

GB
Driver Left

Passenger Right

EU
Driver Right

Passenger Left

Renault
Trafic

GB
Driver Left

Passenger Right

EU
Driver Right

Passenger Left

Maxus
Deliver 9

GB
Driver Front

Passenger Front

EU
Driver Front

Passenger Front


	Arkusz 1
	Widoki
	new_view_4
	new_view_10

	Strefy
	A1


	Arkusz 2
	Strefy
	A1


	Arkusz 3
	Strefy
	A1


	Arkusz 4
	Strefy
	A1



